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BSWE-006 : SUBSTANCE ABUSE AND 
COUNSELLING 

Time : 3 hours 	 Maximum Marks : 100 

Note : 
	

(i) 	Attempt all the five questions. 

(ii) All questions carry equal marks. 

(iii) Answer to question 1 and 2 should not exceed 

500 words each. 

1. What is counselling ? Describe the processes 20 
involved in counselling a drug addict. 

OR 

Who is a drug addict ? Discuss the school based 20 
prevention programmes for effective drug control. 

2. What is the aim of communication ? Explain the 20 
different elements of communication process. 

OR 

What is a group ? Discuss various skills and 20 
techniques of organising a group meeting. 
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3. 	Answer any two of the following questions in 
250 words each. 

(a) What is the relation between STD and HIV 10 
infection ? 

(b) Who invented modern printing ? Mention 10 
how printing helped in the development of 
communication. 

(c) What do you understand by the warning 10 
against 'flight into health' ? 

(d) Discuss the A.B.C. method of crisis 10 
counselling. 

	

4. 	Answer any four of the following questions in 
150 words each. 
(a) Mention the various causative factors for 	5 

drug abuse. 
(b) Analyze the role of UN in fighting drug 	5 

abuse. 
(c) What do you mean by rehabilitating a drug 	5 

addict ? 
(d) Discuss barriers to communication. 	5 
(e) What is meant by linear model of 	5 

communication ? 
(f) What are the adjustments that women has 	5 

to make in her husband's home ? 

	

5. 	Write short notes on any five of the following in 
100 words each. 
(a) C.N.S. 	 4 
(b) Rehabilitation 	 4 
(c) Confidentiality 	 4 
(d) Synchronization 	 4 
(e) Primary group 	 4 
(f) Folk love 	 4 
(g) Confrontation 	 4 
(h) Marital therapy 	 4 
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(a) (C.N.S.) 	 4 

(b) 7-4ITT 	 4 

(c) 4 1) 1-1-qii 	 4 
(d) 	 (Synchronization) 	 4 
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